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LESSON PRACTICE

Follow the directions.

1. Draw a line with m = 3 through Y
the point (1, 2). I A |
| | |
2. Estimate the Y-intercept. \ |
|
3. Describe the line using the
slope-intercept form. < > X

4. Now describe the line using
the standard form of the ) 4
equation of a line.

=<

5. Find the slope of the line passing
through the points (-2, 1) and Al
(6, 3), then draw to check.

6. Find the intercept by computing -
first. Then confirm by checking < » X
your drawing from #5.

7. Describe the line using the » T
slope-intercept form. |

8. Now describe the line using
the standard form of the
equation of a line.
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LESSON PRACTICE 11A

Given the slope of the line and a point on the line, describe the following lines using the
slope—intercept form.

9. m=5;(,2)

10. m=6; (-3, 6)

1. m=-4;(1,1)

12. m=1/2; (2, 2)

13. m=2/3; (5, 8)

14. m=-1/4;2,1)

Given two points on a line, find the slope and Y-intercept of the line, and then describe it
using the slope—intercept form.
15. (2, 3) (4, 5)

16. (4,6) (2, 1)

17. (3,3) (1, 0)
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